ARVES Studies Solving Tournament 2019

(1) Yury Makletsov, 4th prize Birnov MT

Molodoj Leninets, 1987 (+)

1.c8W+ Ng8+ 2. Wxg8+ &xg8 3.d7 »d6

4.g6 D5+ 5.sbg5 Nd4 6.d8W He6

TBR6 e 5,0
7..0xd8 8.g7#

(2) Milan Vukcevich, 1st commendation
Problem, 1956 (+)

LoBE2 e 1,0
1. AXE2 2.8a5%F oo, 1,0
2...55b6 3.8xg5 BXa5 4.66 ..o 1,0
4.. 216 5.8xf6 D4 6.8d8+ ..o 1,0
6...52a6 7.7 A5 8.688 +—.ovvveeeeeeen 1,0

* 4.0\d4 5.8d8+ (5.e77 De6) 5...5a6 6.7
* 6.e7? Hd5
* 8.e8W? N7+ 9.8xc7 stalemate

(3) Valentin Rudenko, 2nd honourable
mention Achalgazdra Kommunisti, 1956 (+)

1.6 &4 2.66 cxb6 3.8b5 .o, 2,0

3..644.a7 €3 5.2h1 coeooiieieeeeeeee 2,0

5..€2 6.a8W 1™ 783+ ..o 1,0
7..chgl 8.WedH

* 3.a7? b5+

(4) Vladimir Bron, 2nd prize Ceskoslovensky
Sach, 1959 (=)

1.8¢2 Dxd2+ 2.8d3 oo 1,5
2.4+ 3.8xc3 b1H+ 4.8xbl1+ Hxbl+
5.RC2 oo 1,5
5..el2 6.82b2+ fhal 7.8a2+................... 1,0
7...sxa2 stalemate
5..el¥ 6.2a8+ Ha3+ 7.8xa3+.............. 1,0

7...bxa3 stalemate

*1.b1%W 2.&xbl+ thal 3.2d3! el®W 4.Ha8+ b2
5.8b8+ el 6.8b1+ dhxd2 7.Bxel dxel 8.¢bxc3

* 2 hxc3? bl+!

* 3. HDed+ 4.55d4! Ra3 5.8b3+ a2 6.5b8; 3..H0bl+
4.8xb1+ dhal 5.c2! elDH+ 6.¢0d1

* 6..%a3 7.8xbl

(5) Ivan Khvalchev, Shakhmaty v SSSR, 1953
(Correction Mario Garcia, 2012) (=)

LEESF 1,0
1...%Re6 2.82f6+ dxe5 3.8Xf2 o, 1,0
3..8xe3+ 4.b5 Bb6+ 5.8xa5 .................. 1,0
5..8x12 6.8g7+ &~ T.2d4 ..o, 2,0

7...£2xd4 stalemate or 7...5oxd4 8.%xb6 =

* 1.e6+? thxe6 2.2h1 £xe3+ 3.%b5 Hal
* 6.8c5?7 Bb2

(6) Zlatko Mihajloski & Bosko Milo$eski, 2nd
prize Mat (Yugoslavia), 1983 (version) (=)

LoA2 e, 1,0
LI 2.00CH e 1,0
2. Wxcd 3.bxcd a5 4.80a8..ceceeeeeeen 1,0
4,28 5.C5. i, 1,0
5...dxc5 6.2a7 a3 7.8xc5 a2 8.8a7............ 1,0

8...al¥ stalemate

* 1.02h4? c1W 2. f5 Wes+

* 2 chxa6? We2! 3.0c4 Wa2+

* 2. W3 3.0bo#

* 4.c5? dxcS 5.%a8 c4! 6.2a7 c¢3 7.&c5 dxc7 8.%ba7
de6 9.8a3 ©b3; 4.50a6? a4

* 52277 a3 6.c5 a2! 7.cxd6 al¥ 8.d7+ xc7!
(8...82xd7? 9.c8W+ cbxc8)

*5..a3 6.cxd6 a2 7.d7+ xd7 8.%b7 al¥ 9.c8W+; 5...
d5 6.exd5 a3 7.d6 a2 8.d7+

* 6...c4 7.8c5 dxc7 8.8a3 &b6 9.2b2 b5 10.2b7
bb4 11.&2xe5 c3 (11..a3 12.8d6+ &b3 13.£xa3
hxa3 14.e5) 12.8xc3+ txc3 13.e5



Problems Difficulty (21 Solvers)

ID|Tag|Difficulty | Average [S(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
3| + 486 2.57 8 7 6 0

41| = 404 2.98 6 9 6 0

6| = 380| 3.10 6 14 1 0

1] + 286| 3.57 15 0 6 0

51 = 180 4.10 16 1 0

2| + 134 4.33 14 7 0 0
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